Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

104

Ratio
~

0.9

0.8

= PPETITY BT ETIT B | APUTTT BT
r puNy 5 [ .
----- +1 -1 1441 41 ==z R LR

=
<

—a— UUIVITTITREIT_TTOTTgTTd]

= pOMm Ft:TTorl%lna' 106

= BQUEMKRTIREWHSSSs ALLITERS:10
T DOM-mMKEITINEWHIM335chi2 ALl ITERS-106
—— bOM-mkEI-TTNEWH3M398dpdq’ ALLITERS-106

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0

Ratio
=

0.9

Efficiency vs ¢

e 5 B
E B I P USRI | Y
E LR Lt i
E il H "
S (v et CR RO et L
F b H 1
E 1 (T 1 WA R R L
IR '
.41 lb 1 Y b s

-2 -1 0 1 2 3

TP N

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

TITI T[T I T

TP @




	Contents
	Page 1


